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% Foint fieqo:rnj e ofhes end o fine Jrxed is called Cope =
;,_ Fixed Po'm‘h is called ventex o_f Cone amd Theline §
: ﬁﬁ Join by verter and point abeut which line rotates is T—at—7" :
‘ Called axis of Cone . = g
Ghom I Frgure 0" is vertex amd OF is axis :
o Cone . O is called gemenattn of Come. : =
ﬁl:.. - g

Slpse Puabola
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eI el L

Conics  ave Te cubves Obiainea(éi ca/?'[nj a

(according to above Comdi r’,ans)
o
/fese Conies are -

doubsle iuj/ff Ciricader Come by a plane - %
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_ % /fef,lgf ol 7%@56 Poinls w’-,%‘-'?ﬁ ake
equidistant Jroma Qied point is called cincle.
Fixed /Oorim‘ (s ca”ea/ /qub?ﬁ's called Centhe a? ' N 1R
Cehele amd distance o Jixed pornt Jrom ks poit rg_‘ A!ﬁ
is called yadius o Cikcle amd demoted by'y .l
Tre leng i of hadiied is called fadiall dictance”  of
“badial lena¥' s A = [Pey ' :
Eguation o) CiAcle:- R |
Let (B,&) be e cemtroamd “r" be the radius of
of Cikcle Then (x=- AR g ﬁ)_a: &> _ '
-« callod g_y,(a'bbn a{ Cerele (S‘tamo(ahd Ef/mz‘f‘r‘on of Circle)
Comidied at CAE) wil ruding b . _
Deduction- 1f c(RR)=c(adThen 2+ §2r® is ealld
gﬂaﬁm of Cincle Gemthed at OhLzion. 2 o

‘Panametnic fu{fh‘ons of Circe - DY TR
x"+J’5 AY - are: o ,
A= hCos® , J= £SinG

wher oL6eyy

General Ef(}m'h‘@r) oj( Circle:-

o : (W daet
ereiuafzbfn x?‘+\dz+a,ax+a'-')a+c

is called aeneha.g Efpaffon o':f“ Circle u_mn"\ cemlbre (-3}..}) o

omd radius " Y= rxl-}2'+32—'—c ' .
% A Circle qfraa’.'us A<o rs callecd r'maar::mrcy Clrc‘/e_- =
#* uq cihele widh f=0 (s called pa{nt Ct&c(e w

% A cincle wilh p=1 is called it Cihele”.
w - Te St of poimt's %Cdﬁcé is a(zi‘?&éeq"bi S(e.»)

so at  S(c,n) =1 PI)| Ipci=2}
| Charactristics of Cincle Eguation:. (Grene vk ¥ -

# Circle ation is always Rnd o(iaree év,(ail.rbn. i '
3 CoefﬁcZ‘b of o M"ﬁdz ang always e?ﬂaﬂ in c:ihgle gf)laflon-
s Cincle fs‘[ndepéndmfof teams of Pyooh{ci xg+
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of end pom’l‘s O{ODame'tE"L

Flauma A(x;5Y)) and B(Xz> J?_) as Jom o{

ek ~J=d

$U"U!Xaﬁ?_ .‘f'l

%&Oﬁz@)}ﬂ - qu.atlo“ of Circle ﬁavma A(x,,c‘;,) and 5(’(2’(72) as Jmn

(Pr*oog Let P(%:9) be oy \oom't onlhe c'_wcle. _,:5}

(rm,) Slope _f AP = o amel (m?_}s\o‘:ecangr,

l}nj/e insehibed in SemiCircle is ,‘ncsgdi ams\a.

= (d'(y-r)(d"c']z)_r— — (z-x)(2-%2)

(%= %) (23 ) +(I-$) (I ) = 0

(3

PGGY) -

6 B (xl H 32__)
t "

d-da

—_—

xX=% i

EZ uation O.fCI\'c‘e

Exercise: 6-1

> Cémf&(s',-z), yacius= 4
U.ana Standand €q uation
-5 (J2) = (4
K4 RS0+ YH4 +4y=16
x5 P 0% +hg425+h-16=0

75‘-{-‘(‘]?'-{0')(4- 4y +13=0

QI Fimd Eguation of Cikcle in each Cate: |
v Gmthe(dZ,-313 ) | radius = 242
Usma Stamdard E’@ua‘hon
(x—AZ)%( §+ 315) = (42 )*
2= 2420 + P 2T+6Ey = 8
xz*az—,zﬁx-{: ¢{3g +2+27-8 =0
'xz+‘g]z—?-ﬁx+5ﬁ‘{j+ 2!:_0

L
u5m3(.~:-:g(:[ )+ (x- :t,)(w—vzz = ¢
((7 i da-d) 4 {2 FGEs) =

s 24+6y - 124 W 3A x-S =6
s +‘a 4.3-x-\-6'a S — 25-—-2.7—
x +(j — 21{-4\(1_27:0

(-3,2),(5,76V as ends of diameter.. . -

(ogyumd)

(©)
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W x?’+‘(3?‘+1'2,x——lod.—;o
ComPa.h.ma wiTh %emeha_g {-’r(
23:1‘2.; 2.'?:-.’0
a:: é -f_—_ -
Cemtre (*3,';{: )= (-- 5', 5)
vadius (VA V9% c
:_'\‘ 36+25—o ,-,—“J?
Radurs = Jer
an leﬁs‘az+!fex+latj—|0=¢
Lty lxr 2 g-2=0

C=c
C=o

. Iy =
i e=-2

25 = 2
(7;'1 f=£
Centre(=8f)= (L, )
Qadmﬁ(f) = "‘, ? +52__C‘

B <[5
Radiys = ‘EZ

e= -2

Comrzcuu'.na with aemero_[? E'f:

C_QM@ Fimd Cemthe omd radius of Mhe Cihcles: @

i) %z—l- Hz'._ 6’1..;. 113 +[3=0
Come:ina with aemehoﬁ‘ g‘t‘

2.8:—-—6 2f=4. c=]3 _ §~\ !
d=-3 . f=2 =13 @cy

Cerithe(-3,-f) =(3,-&)

Radius(¥) = ,.,! 2 24 az_' c ;
Y= |4 -13 =o0 ‘Q%
[;Zo\cl_{us =0 (PD :"n't &YC[E)

i 417‘-1—43 8x+raa —2Eed

xT4yr— 2% s 3y-25 =0 -
Compm“a walh %emev'a_Q Eq_,

— 2- ;.—-ZS'
2, SN el |
d etfe 2>

Cemz‘&e( 8f) = (’:*372,)

Radlus(y) = ,l 2 +31_ &, '
: = =%

; A4
RADLI‘EAS — [-l—g

M A(45)

884‘!‘0{-}-(‘_: -f;l?___@

fmammnmmmmmmmmﬁmmﬂmmEEmmmmmm

Q3 Find Equatimof Circle. ?ﬁ(soujfa" He pam?ls yrv’w Balkis

y Bl =4:=2), 80 7,=8)
Let %2““5 2y 2qoc4 253 4C=0 be Tha rog piikact ev,la'hona](‘@/sc[‘e
Now- A, 8, ¢ lies om the Civele so must ,ga_-hsij\a s -ey.wfhoﬂ

A=> |4+25+3gHofrc=0 }B"—'}' 16+9-89-€(+C=0

. —Qa—ﬁjf-fc =-2 S_@

Q—:?ﬂ(-f-9+1$(j sFee=s
} Iéa-—-éf.-\-c—- —73_@ )

By 0-O, we Rave By -0, wehave @= Cz-as+.83 +€§
. gg-t0d+f = = — 4l A IZ/_—-ZS - C=-25+8(-2)+6(1) ﬂ;})_
ek CemE B S = —25--16+6§h~§’ B
16q 169 = —fé ~2hg =48 [c=—-35]
; j ——? ! )
o 3+?_—f %" it '
=—1-9=(-(2) i 3 AR R 36 )= '
:;'_ ~122 g gcamf}m a?@,/;c/é -x+g+2(2)x+20)3 +(35)=0

= - TAHE? E-FU — 4o+ 2Y—25= O}(Ref,fyajmﬂ)
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 @x3>_ JER-R= 9 4t =30 [R= X)) «g
Aoﬂt'?j -B= -9
= [&=9] - (s @mf&zc(ﬁﬁ)_cz(aﬂ)

gmmmﬂmmﬂmmgﬂmmﬁmm

b ACLT), B(S,-clibe) | & ol
let +~d +gax+2,.§a+c._o be the Yetuave_d Circle Ez;xafton

NOLO A B,C ‘.LE.S O“r\-'l-kﬂ‘- Q,urde_ So m&t SCdlS‘E‘-\'a_LJCS ebua.t.oh
A= 474499 - lhg H4fsc =0 B> 25+t+t°3 2§+c ] c$71o0+o+a°3+ﬂ=° ;
._/43_+MJC+C=—95 L loa 2§+c __25_® } C-——E.oa ’m =

B> 145 +47 - 2gio=-17 @z 0§ ~Rf = 20§ too=-2& Ab;’ X 9

-3t,a+uf§ 2 RO il -
F o7y =@ T "9 Fe-sy-3 ;
Puﬂma e 37—5‘8 N"Lf’ F = =8(=8) =37 C = =R0(=5)—Iov
_173-‘_'7(__37 S_a), B . jc-:. 25"37:-]2 C__:_[g-o_fol'):b
: @;173_25‘5——33‘3 =] | .
._.5';3— R€o -._>-“"'5_

Ettu\atton o,g Civele: x*& + g -\-2( S')Irf?-(i'l) 3 {o)=0o ‘Q‘\&
' Yx + 5 __IC)'x ?”L'U__"‘ (Eeﬁ/ g’éuoj.m (z,.
Slm{t.a:"«p)d do Fe_maumna pamis. gous Sdf ) '

Q 4’ me[ %Hﬂf{ﬂ?? O? cl/ﬁc‘fe ,7) eaCA @Me
e A(B -1, B(0:1) amet r‘q’aw?g Centthe az G — 35-—3 =0

Let C(R,R)beThe cenitre of cirele: = g A(3,-1)
> fACI—_-_!BC.'-——YaoiiuS ' \_//\'\ i d
Comgiden  [ac/= |BCF _ ' w
o (D)2 (B0 %A

> R 0-¢ht A% 2R= BZi>41-2R=> —6ﬁ+4&—~9 > 0
Now (B,R) bies om = /N‘l!i/Sa 4h— 3R =2 _—_@ ‘%
Dxos —of+8h =18  ©= 4R=3+3R = 3 +3O) Q&.

/R
5%

— 48, 324
é 5(_.{.‘(} ,51_19(7.1.235___?_."1‘_

Radiug =IRC] =  (Z-0)2 (71" = lazr < .HJI:T

é?.aa?‘m?‘] a]?C’z/ic le: C'z !/A) _1_(5 9) = (,\]W/—q)

= 12»_{_ 22§ '5_"'*"5'*“8"9(7“- 45’}

= \% +a""‘_.rs—x—-l€a + l7=o' (Re?))_n‘eﬂl Epmfw'n )_
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> [ACI=2 = jAc]R_ ¢
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b AC2,0), raclins= 2 centred at Re-3y+3=0 - AES,) -
Let c(f,R) bethe centre O{C‘ivc(et '

> (R34 (R-1)=4 = A% R%: 6 2R +10=4
> Re R 6R-BR= -6 — O : “E

Now c(g,R) Lies omThe Line s RR-3R=-33 ﬁ;@'_ﬁ;_ﬂ—__?_
NS (Bﬁ:ﬁ 2 &) 6(3&—3 -2 R +6=0 L

= 9R%t 2 Igh ﬁ?‘ !gﬁ...lf il
= NOL:J Muff‘lpl'dw\a ba4 bcﬂh SLCLES

= 9ﬁ1+9 18ﬁ+4ﬁ1+3gﬁ SC-FR+RI=0 . A W
> 3R240A-F=0 = I3ALIZA- 3h-3=0 /

> (3R-3)(fir)=o > B=nl o B=Fy P
5 Bt oy ,,,Tﬁi 3(~J (G3) -3 _ <30 -8

2xIz.” 13,

(Thus @w‘l[}uz s ecliod (..; 3) - (..
E g uatioms cf&-rcfe e 7

BNCTD PACTES VR CEY Y ST S ol
(c: A(S,1) and Rz-j-lo=o is langent of B(3:- 1), xS

LetCh,h) be Te cemthe o} Circle- . &
Se [AC/=IBC/= radins = |AC) - /gc/,g‘

fs"

> (R-5P4(h-1)% (A-3)% (hr4)® ?&‘&
= REL A5 -loh + Rl - 2R = ;f%%é;tﬂfi (6+5’ﬁa 'S,b

= 4R +10A=] — ()
1&+4

Slepe <3 ‘tamaem'ttml)—* 2 amd Slope { BC (m,) = —
Nowd " yalius (s olwa-as Fe.vaohcuﬂar + -b,y\aw{

2o MMy = -1 => {?:u«li PO é&ﬁ-{-s_?} Bl
puting e vabus £ ] = Ae SRR —@®
Oz 4(=S—-2R)tloRz1- | oz

Z —20- 8&+/oﬁ~: N"“’" 1Bel= { YRR EDY
> 2Rk=21 > Y= B4+ gq; (4205;
@ = -s- z(_):?m Guatlon of Cache
Centie (8,1 =(-24, 2/) (:t+.26) +(J~—

1y ‘{2'05.
4q

Badshah Computer’s Kiidli Adda, 0300-7414159

'HIIII-!..I-:?“%III]I]I‘.IH!W YIHYL

) <3 (GOOWAIA

G00MRIN iAGT

©

4uonmmw;ummmw

TRHIRHEANO0D) = TAHIRMERTIO0D) <: \ARIR/MERMO0D) < WARIRTERTIO0N) % TARIRTIERTOND) @)



©
=
(=)

. (TAHIRMERNTO0

VAR,

TCIRIRMERNC0D
M.Sc Math 5
0345-6510779  o8%

Cirele liesin R‘mi quadentls wath axes
as ‘twawfs So Gmtre (B, '%):(fa’. a)
%uaf!bﬂ %@&a/&: i ~]
(Q’_+ a_)z+(z1q-¢)?'= G.a

2
K& a 2o+ HEp O RaU —:._of‘ :
X Yo 2 = 2a +aZ_p : ‘
: : : 4o
- b

Q6 ..Lys 31-—2,8:0

" Q$- Radius=a -

Y

Lox ax+33—13 =‘-Q
Egquelion ol nelay YrreE, é'x--éarzo '

Companing ik Jomotal o cince . 5
: 2826’ c2f==4 ‘c=a . Di
| 833 = -2 =0 T\]

Yadius (Y) = T 5 o
Centte: €(~3,2) =C(=0~f) riﬁg&z\f_j% .
Kase Losies wrill be tamgents (= «fﬁ | |

o= Y=d, (ilé.. distamce{Vomcentre = (i th o radcus)
g l3e3-20) | d, = 1269+3(2)-13]
(@) %4(-2)> veF (32
25"(‘: ${?5%=@=* SN B
(?v%,;?sz L and Ly are 'Eamgam‘fs'to af'lfe/n cirele.

Q7

i kzi-c‘]z-r 22—23 =06 ¥ 'chﬂj%-éx +ii(j ¥?= o
Com!ia):iﬂa woith &1anefﬂj griu.rdcbn ijC{ché "

@ ‘ @

et LB

23.——2, i agz‘-.a__,_c:.-;
d=14 ,f==~1 , €==-7
Cli PG b 1)
V=dfHg=c
vo=J1++7=8=3

Ce(-,f)=Ca(2.72)

23: -5, 2](-';4’.,6: 9
J==3,%=2 c="9

ra=J§2+(j"’;C _

o= (-3)%(2)2.( 9)

'TZ =.J9"*£‘-.-9 :W:E; s

Now -[C,Cgf.:i (3-1—1)%(-(-.-?.-!)% VZAI (‘l)a'—'r (- 3)% -
leicz])= Jurd =[5 =5 °

fCuCz l — Y!-{-YZ‘: S So Cti&d/és foqcﬁ exlz&iﬂajg. i
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Q8- xa+aa:\- Dx~8=0 ¥ ?ta-’r%ja— 52*'63"4620 ‘
Cﬂmfa}my e p Gemmaﬂ £Z;¢aﬁb97c7r/&‘/icé Er g -
23=2 2625 |, e-_g R e PR T

a;l ﬁ-_F_—__{} , C=-8 ar—--3 f-—3 C.-‘—‘- 3 -g-g
Contre Ci(-8,£)=C (-1e) | cortre s 1 Co(~9f) = ¢2(3,-3) ({P‘ﬁ

"|=nf{2+3’*-—c Vo= | | .
o : (“3)**(3)—(-‘:5) = i '
»\’{1)7“4-(0)-( 3) T?_=!Ci+‘1+l1é _,J—q = ga jr |
Y !l-\—ﬁ’——r S |

i :
Now IC Cof = ,.,(3—1-,) i o)a l(4) +_‘——(_3) i {__16+9 " :
lewc,] = las = . 1

= |&dale Bl =8 0 Cffc_(e,g Lsue h in'l‘eana“a :

.9~ Radius= 2, Tamgemt Line: %-y-4=0at A(l,—%)

Let (?O R) be the Cenilre OJC civele Them E;ff-m'hovx is

(x=8)% (4- AR (2
= Z+ﬁ Rxﬁ-{-a S Ran Z{
NC"O AGJ -3) Liesom Ciacle So TYUULS-E: ?a.'hsf J:
= 1+ Q% 2R+ T+ R%6R=4 ¢

Sle spef Lihe(\m' = .

@2;1% —RA+ER+6=0 @ Slped Achm,)= Ai3 21+3| |
+( ﬁ-—Z) 2ﬁ+g( f—Z)—H{ 0 Now vadiug tsL{:n“taf_Ln{

Y 2 F ARG -28 —¢f ~{2+4=0 L Mm, = dm'tSu

Zﬁ —4R-R=0z> fi2 2q_ A
_ = o@ :}(Q+3)(!)h_,__>ﬁ+3 (-8

A= =ta4
S S Sfa=—r-2]

$’_ ﬁj '-‘l—ﬁ_.z f ﬁ(ir“‘ﬁﬁl'?ﬁ

A _—3—43‘ B )
A cleR= 3405
ws Cenlhe jo C’(J+»F -3-J3 C’ |-
%aaﬂij ke ) ( -*'3+ r)

(x-—z

e )f’, @ &

@mmﬂmmﬁmmﬁmmmﬁfmm
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